Nuclear Fusion: How does the
sun produce its radiant energy?

Reminder the sun produces energy that travels to earth in the form of
waves. Today we will find out how the sun creates that energy!



Details about our sun
*The sun is made primarily of the gases :

*Hydrogen and Helium
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Details about our Sun

* The sun’s surface is approximately 10,000 F° (5,600 C° )

* Within the core of the sun, gravity creates intense
pressure and temperature of more than 27 million
degrees F © (15 million C°).

How does that happen? Hydrogen atoms are compressed
and fuse together, creating helium. This process is called
nuclear fusion




Nuclear Fusion

Is the combination of
two lighter hydrogen
‘atoms into one helium
i e ‘'« atom. The leftover
0N components are
- \\ released as energy.

Energy




5 fact video summary on nuclear fusion

*Atoms, Cars, and the Big Bang



https://nc.discoveryeducation.com/player/view/assetGuid/1277ccd3-5594-4c56-99b7-d59c1a66b7df

Solar Flares

* Sometimes a sudden outward eruption of electrically charged atomic
particles are released from the sun.

* This can interfere with phone, TV, and radio receptlon on Earth, but
luckily..... -




We have a protective magnetic shield!

* Earth’s magnetic field protects the planet from the harmful effects of
solar radiation that comes from 93 million miles away!
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Solar Energy to Chemical Energy

* In the process of photosynthesis, plants convert radiant energy from
the sun into chemical energy in the form of sugar (aka glucose).

Basic Photosynthesis

sunlight (radiant energy) + carbon dioxide (6 CO,) +Water (6H,0) + = Sugar (CzH;,04) + Oxygen (60,).



